Question 1

General Knowledge

Question Id :
25

Which of the following statement regarding the
Narmada River Basin is NOT correct?

|. The Narmada rises in the Mahabaleshwar.

11, It flows towards the west in a rift valley formed

due to faulting.

e 7 Z1ft & way A Fpafafae 3§ @ @ @ s

Fd d 82

1, T &1 I AEEE T A )

11, 7@ uffm &1 3R e sier arét & gt g1

(A) Only Il 250
&aa Il 02

(B) Both I and Il 250
| dar 1| 03

(C) Neither | nor Il 250
A Ad N 04

(D) Only | 250
Fae | 01

Right Answer : (D) Right Option Id :

25001
Challenge

Select Objection v

Question 3 Question Id :

15

The force acting or a unit res of « surface is

called ___.

Rl o & of (i T A AR A A

g 81

(A) mnss 150
L LR 01

(B) pressure 150
o 03

(C) weight 150
W 02

(D) density 150
LG 04

Right Answer : (B) Right Option Id :

15003

Challenge

Select Objection

Question 2

Question Id :
4

Who among the following was the inventor of

Mohan Veena?

F=faf@a & & @ wtge dion & snfaerrs 42
(A) Pt Ravi Shankar 400
°. i 1
(B) Pt. Vishwa Mohan Bhat 400
o, fay wtee wg 2
(C) Budhaditya Mukherjee 400
gufen gaft 4
(D) Shahid Parvez Khan 400
unfge wRdA @ 3
Right Answer : (B) Righ ' Option Id :
4002
Challenge
Select Objection v
Question 4 Question Id :
18
Ravikirti was the court poet of which ruler?
Hafifd e amaes & gzard fa &2
(A) Harshvardhan 180
gefada 04
(B) Samudragupta 180
e 02
(C) Pulakeshin Il 180
qeri Refta 01
(D) Chandragupta 180
o] 03
Right Answer : (C) Right Option Id :
18001

Challenge

Select Objection




Question 5 Question Id :

S
Which of the following statements is correct
regarding the progress under Jal Jeevan Mission
till March 14, 2024?
I. As of March 14, 2024, 9,30,460 schools and
9,65,960 Aanganwadi centres have tap water
supply.
11. 14.50 Crore (75.15%) of rural households in the
country have been provided with tap.
14 914, 2024 F& Tt Sfa @aA & Fga wfa & dau
[Eirifecfacke alck: e
1. 14 9, 2024 & 9,30,460 Fat 3% 9,65,960
HiTardt Fel & Aa & urf Iudey g1
Il 231 & 14.50 T3 (75.15%) urftor ufkawt &t 7

I FHITT T4 B

(A) Neither | nor |l 500
FTRITAN :
(8) Only Il
Faa il
(C) Only! 500
Faa | 1
(D) Both land I 500
| qur 11 2 3
Right Answer : (D) Right Option Id :
5003
Challenge
Select Objection v
Question 7 Question |d :
23
Which of the following is INOT an ¢xample of a
metalloid?
fPrafafla A @ )3 @ e &) 3erERo T 82
(A) Silicon 230
R 03
(B) Borori 230
IR 01
(C) Germanium 230
wAfR 04
(D) Bromine 230
arfia 02
Right Answer : (D) Right Option Id :
23002

Challenge

Select Objection

Question 6 Question Id :
16
Which of the following statements is correct

regarding the Supreme Court of India?
WA & Iegan =ararery & @ § FraRdifga 3} o

a1 FUF Gt 8?7

(A) Supreme Court that is 160
located in Mumbai. 01
Jaad oy g § [ 8

(B) The Supreme Court was 160
established on 26 November 04
1949.
JeAAT AT Y TG 26
TR 1949 T gé 1

(C) The decisions made by the 160
Supreme Court are not 02
binding on all other courts in
India.

I ey & A MTd &
I T Jgreral UR areeh

TR

(D) Supreme Court i presided 160
over by the Ciilef Juctice of 03
India.

Jeqan [T & Hfaar wRa
& g [T T g

Righi Answei: (D) Right Option Id :

16003
Challcnge
Select Objection v
Question 8 Question|d :

7
Which of the following countries hosted the first
Rainbow International Tourism Conference in April
2024?
frafafla 7 @ form 2 3 anle 2024 F ggen WAt

Sadfia wdes getas wmatfoa o

(A) Bangladesh 700
Bl cEl 3

(B) India 700
WA 1

(C) Nepal 700
Aot 2

(D) Myanmar 700
AR 4

Right Answer : (C) Right Option Id :

7002

Challenge

Select Objection g




Question 9 Question Id :
6

Godmen and Godwomen of India’ was written by

whom among the following?

TR U3 i3ga= it 33ar Meafaf@e d 4 s

ar fovedt g oft?

(A) Salman Rushdie & 600
HEHA F9& 4
(B) R. K. Narayan 600
R, &, AR 2
(C) Ruskin Bond 600
& dfe 1
(D) Khushwant Singh 600
guEd g 3
Right Answer : (D) Right Option Id :
6003
Challenge
Select Objection v
Question 11 Cucstion id @
2

Provision of "Freedom as to pay nent o! taxes for
promotion of any partic uar religion” i« associated
with which of the followii g prit <! Indian
Constitution?

‘R u H RS s FgemFaRd
FaFar & maw R gy & R g a

g v dda T8

(A) Furdamente Rights ; 210
EGEREI 02

(B) Fundamental Duties 210
e Fded 03

(C) Relations between the Union 210
and the States 04
w9 3R Tl & g gy

(D) Directive Principle of State 210
Policy 01
g & A3 F FEas a=

Right Answer : (A) Right Option Id :

21002

Challenge

Question 10 Question Id :
17
in 1839 coined the term ‘protoplasm’ for the

fluid substance of the cell.

¥ 1839 # &ifra # f@F ave Sfae vard &t

Sitagen @1 = faam)
(A) J.E.Purkinje S 170

B LCE 01
(B) Schleiden 170

e 04
(C) Robert Brown 170

At a3 03
(D) Leeuwenhoek 170

TR 02
Right Answer : (A) Right ® uonid:

17001
Challenge

Select Objection v

Question 12 Question Id :
3

The multidimensional poverty in India has declined
from 29.17% in 2013-14 to % in 2022-23.
WRa H agamardt Fd=an 2013-14 § 29.17% & weaw
202223% %@ MR

(A) 2213 ¢ 300
2213 1
(B)18.15 300
18.15 2
(C)11.28 300
11.28 4
(D) 15.16 300
15.16 3
Right Answer : (C) Right Option Id :
3004
Challenge
Select Objection v




Question 13 Question Id :

24
Which hills and ranges form the eastern
extensions of the Deccan Plateau?
1= 4t ugifsaf ofiz 4foral gae & ver 1 odf R
&
(A) Cardamom Hills and 240

Anamalai Hills 03
FHTEAA UgITEal 3R SAmHeTs
aIfEal
(B) Mahadev, Kaimur Hills, and 240
Maikal Range 02
weIed, FR UEIEa ok AT
e
(C) Eastern Ghats and Nilgiri 240
Hills 01
i ure ok Hrwfift ugfdar
(D) Western Ghats and Sahyadri 240
Hills 04
ufiyeft ure o wenfy weifdar
Right Answer : (B) Right Option id :
24002
Challenge
Select Objection ~
Question 15 fjuestion Id :
22

Acacia, palms, and e phorbi - ire the main plant
species of which fore 5t?

SR, WR, AU T Xadi (4@ 79 6 @ urey
vt &2

(A) Moniane Fores: 3 220
qddta g+ 02
(B) The Thorn Forests and i 220
Scrubs 04

FE T JuT FfFAT
(C) Tropical Deciduous Forests 220
JwrHfeadia gufard @ 01
(D) Tropical Evergreen Forests 220
IWHRE ST TEEER 7 03
Right Answer : (B) Right Option Id :
22004

Challenge

Select Objection

Question 14 Question Id :

9
Who became the first woman Vice Chancellor of
AMU in April 2024?
30 2024 § AMU & ugelt 5fgen Feaufy 17 =412

(A) Farah Malik Bhanji 900
TRIE Hfcia wisht 4
(B) Naima Khatoon j 900
EECIRGInT] 3
(C) Jaya Verma Sinha 900
S gt &= 1
(D) Pramila Malik 900
yffer nferew 2
Right Answer : (R) Righ® uption Id :
3
Challenge
Select Objection v
Question 16 Question Id :

14
In which state of India is the Konark Sun Temple
located?

Fond g AR wRa & kg wu F fRm 37
(A) Odisha 140
afaam 01
(B) Gujarat 140
e 02
(C) Tamil Nadu 140
ey 04
(D) Andhra Pradesh 140
iy wZy 03
Right Answer : (A) Right Option Id :
14001
Challenge
Select Objection




Question 21

Question Id :

1

Who of the following is regarded as the founding

father of modern economics?

fefafaa d & a8 anyfie srdurs & o9 Fsad

AT AT 87

(A) Warren Buffett 110
i qthe 02

(B) John Maynard Keynes 110
it #ard A 03

(C) Adam Smith 110
73 @y 04

(D) Alfred Marshal 110
etk wisfe 01

Right Answer : (C)

11004
Challenge
Select Objection v
Question 23 lue stion Id :

Right Option Id :

10

Question 22

Question Id :

20

Which one of the following pairs is correct
regarding the provisions adapted from the
constitutions of different countries in the Indian

Constitution?

sirdta wifdur  fafiva 24t & wfaus @ fag g
vl & ded # Fefaf@a & aa @ g ad @2

(A) Directive Principles of State 200
Policy- French Constitution 02
a1 A & P a= -
it

(B) Principles of Liberty, Equality 200
and Fraternity- American 01
Constitution
A1, EEAr R dY &1
fargia- spfeh afqus

(C) The idea of Residual 200
Powers- Irish Constitution 03
srafare aferal &1 fRrgia -
smafear wfdum

(D) Institution of the " neake: 200
and her/his rot=- Brii/ 04
Constitution
faafae & e 10 3R
T A ARy 7

Righ: Answer (D) Right Option Id :

20004
Challe ge
Select Objection v
Question 24 Question Id :

13

Who among the followiria i1 cfian Ciictcier became
the first Indian bow'er to { tke 550 wickets in T20
cricket history?

Prefaf@ad @ e e fode §20 frde sfagra
# 350 fad M are g wrdtg Haars 7172

In May 2024, who was honored by the Honorable
Vice President of India, Shri Jagdeep Dhankhar for
her outstanding contribution in the field of
Corporate Social Responsibility?

7¢ 2024 #, FiuRe Ao Jewaraa & & F 3
IpE TrTETE & g WeE & A sweafa o sda

(A) Ak .sh Deep 100
e 1 & 01
(B) Arshdecp “ingh 100
Hefdhy g 04
(C) Jasprit Bumrah 100
srenfta gErTE 03
(D) Yuzvendra Chahal 100
garde agd 02
Right Answer : (D) Right Option Id :
10002
Challenge
Select Objection v

=3 A fad wanfaa faear
(A) Vani Kula 130
aroft e 03
(B) Falguni Nayar 130
e AR 04
(C) Bina Modi 130
affa HE 01
(D) Vinita Singh 130
fafian R 02
Right Answer : (C) Right Option Id :
13001
Challenge

Select Objection




Question 17 Question Id :
12

Who among the following Indian para athlete set
world record and won Gold at World Para Athletics
Championships 2024?

Fafafea # & g vt v gusfie 3 Byt

yydifeas dfgafiv 2024 # fay ReiE 9w ik wof

uZe Sfar?

(A) Deepthi Jeevaniji 120
& sfta=eft 03
(B) Karamjyoti Dalal 120
FHIfA e 04
(C) Ekta Bhyan : 120
oAl WA 02
(D) Palak Kohli 120
U aigel 01
Right Answer : (A) Right Option Id :
12003
Challenge
Select Objection v
Question 19 Qiostivii id :

.
]

Which of the following books is 1ot writtei, by
Arundhati Roy?

frafaf@e § @ a9 & gws e 7o grradt fordt
TR

(A) Midnight's Children 800
fagemeE fac = 4
(B) Walking wi'h the Comrades 800
Al Ry @ 3w 2
(C) The God of small Things 800
% T3 ity W flvm 3
(D) The Ministry of Utmost 800
Happiness 1

& Afah e sredie guftg
Right Answer : (A) Right Option Id :
8004

Challenge

Select Objection

Question 18 Question Id :
2

In November 2023, India held discussions with

which of the following countries for the future of
electric propulsion in naval ships?

FEv 2023 #, WA A A& & wgrt  gefERs yoite

& wfaw & fog FefefEe 4 & g 2u & sro gt &

(A) United Kingdom 200
gA3es fhse 4
(B) Japan 200
S 3
(C) Russia 200
= 2
(D) Australia 200
i feran 1
Right Answer : (A) Righ* Jption Id :
200 4
Challenge
Select Objection v
Question 20 Question Id :
19

Who among the following lawyers gave up their
practice during the Non-Cooperation Movement?
I.C.R. Das

Il. C. Rajagopalachari

Ill. Asaf Ali

frafafes adfet & @ e smedm sielem & e
o FeTed Bz & 4

| #om T

1. @, TetareTaTd

I, ST At

(A) Only | 190
&aw | 01

(B) Only | and Il 190
et | T il 04

(C) 1, II, and Il 190
I, & 03

(D) Only Il and Il 190
et Il qur i 02

Right Answer : (C) Right Option Id :

19003

Challenge

Select Objection v




Question 25

Question Id :
1

Who defeated the Turk ruler Sultan Muhammad

Ghori in 1191 AD?

1191 €. & g e gear gawg 1 ) e g

ur?

(A) Ajayaraja Il
sraraerst et

(B) Jayasimha Siddharaja
wrafds g

(C) Prithviraja Il
g gt

(D) Prithviraj Singh |
T g wum

Right Answer : (C)

Challenge

Select Objection

Question 26

100
1
100
2
100
4
100
3

Right Option Id :
1004

General Computer Knowledge

Question Id :
34

What is the use ¢ “torma painter” in MS-Word

20107

MS-Woi ! 2010 & *afdfz dez” & aar Juah &2

(A) Insertic of he ader, footer
and page i,.umber
A3, ez Ut R 1 F

(B) Apply space between the
lines
@Al & dtg F 2y @

(C) Insert a hyperlink, bookmark
U IEufers, gaHdh 30é
&

(D) Copies formatting from one
place and applies it to
another
wiAfE @t g wm & St
ek GEY WA U N FAT 8

Right Answer : (D)

340
02

340
01

340
03

340
04

Right Option Id :

34004

Question 27

Question Id :
38

In the context of E-mail, the Bee stands for ‘

E-mail &
e, Bee i ®n ___R)
(A) Black carbon copy

weh e

(B) Blind custom copy
&A1EE FEH i

(C) Blind carbon copy
T332 HEA Hidt

(D) Black cloud copy @& &eia3
it

Right Answer : (C)

Challenge

Select Objection

380
01
380
03
380
02
380
04

Right Option Id :

38002




Question 28

Question Id :

37

Which of the following statement is correct
regarding the RAM(Random Access Memory)? |.
The information stored in RAM gets erased when
the computer is turned off. Il. It is non- volatile

memory.

RAM (339 Gadtd A1) & d@af & Frafef@a 4 @ &

A HYF g8 87

|. 979 &R 9% g &A1 8 dt RAM H udia gaen fie

T &1
1. Tg HgrHt Aurd 21
(A) Both I and Il
| |l 2t
(8) Only Il
Fad |l
(C) Neither I nor Il
agadn
(D) Only |
Fae |

Right Answer : (D)

Challenge

Select Objection

Question 30

370
03
370
02
370
04
370
01

Right Option Id :
37001

Question Id :

39

In the context of i; ter ot the URL stands for

FTACHF T AH URL Ui &T____ B

(A) Unified K-quest Link
gfAwEs Raa = s

(B) Uniform Resource Locator
aPrGn R st

(C) Unified Resource Locator
afres Rt wide

(D) Uniform Resource Leader

gftrend Rt eftse

Right Answer : (B)

Challenge

Select Objection

390
03
390
04
390
01
390
02

Right Option Id :
39004

Question 29

Question Id :

40

The size of register also called _____, indicates
the amount of data with which the computer can

work at any given time.

e &1 aEw o oft g1 oITaT 8, 3T A I
w1 @l Gfaa wan ¢ foraes |y swges faed oft aa
FTH & Gehal gl
(A) word size 400
T3 |igw 01
(B) register word 400
e ad 04
(C) word bits 400
s faza 02
(D) read only memory 400
$iz aht At 03
Right Answer : (A) [.oht Option Id :
40001
Challenge
Select Obje tion v
Question 31 Question Id :
27
MS-PowerPoint is a s
MS-PowerPoint U& gl
(A) presentation software 270
Tefear Siveday 03
(B) word processing software 270
T3 urafdn aivedar 01
(C) database software 270
3TEY Hiveam 04
(D) spreadsheet software 270
aresfte Aiveday 02
Right Answer : (A) Right Option Id :
27003

Challenge

Select Objection




Question 32

Formula start with

Question Id :
28

sign in MS-Excel.

MS-Excel Fwifar ____ Rg @ e glar gl

(COX
{

® I
(
©/
/
() =

Right Answer : (D)

Challenge

Select Objection

Question 34

280

02
280
01
280
03

Right Option Id :
28003

Question Id :
29

What is the shortcut key to onen a Font dialog box

in MS-PowerPoint 20107

MS-PowerPoint 2010 3 ti-¢ ST afad Qe &

g aiféem7 @ i N7
(A) Ctrl + 1.
Ctri+L

(B)Ctrl +U
Curl+U

(C)Curl+D
Ctrl+D

D)Ctri+T
Ctrl+T

Right Answer : (D)

Challenge

Select Objection

290
03
290
04
290
01
290
02

Right Option Id :
29002

Question 33 Question Id :
33
The above group icon Is availlable inthe ______ tab in MS-Word
2010.
IRIFA T HGHT Ms-Word 2010 3 & # 39y B
[ P <
u‘j J3 Copy
P‘.‘" J Format Painter
Clipboasrd e
(A) Layout 330
GRInr 04
(B) Insert 330
£ 01
(C) Review 330
Ry 03
(D) Home 330
L 02
Right Answer : (D) RighiOption Id :
33002
Challenge
Select Objection v
Question 35 Question|id :
30

What is the function of shortcut key "Alt + M” in

MS-Excel 2010?

MS-Excel 2010 & aiféme & “Alt + M* 1 &d @ g2

(A) hide the selected rows
Atz fang g @ =l g1ES FRAN

(B) go to the Formula tab

wifen &3 RS
(C) add borders
IR W FE
(D) delete column

e # el wen

Right Answer : (B)

Challenge

Select Objection

300
02
300
01
300
04
300
03

Right Option Id :
30001




Question 36 Question Id : Question 37 Question Id :

35 36
The function of shortcut key "Ctrl + W” in MS-Word In the context of computer memory, 1 Byte is equal
2010, is . to :
MS-Word 2010 # eiféae & "CtrieW" @ _____ FYR AN F U A, 1a9e _____ F IR )
! (A) 32 bits 360
(A) save the document 350 32 fagw 04
g & 89 FwEAT 02 (B) 4 bits 360
(B) cut the selected content to 350 4 fazw 01
the clipboard 03 (C) 16 bits 360
detae g g FiRT H 16 facw 03
feaatd w e (D) 8 bits , 360
(C) close the document 350 8 faza 02
Sfagie &1 48 & 01
(D) increase the text size 350 Right Answer : (D) Right Ootion Id :
R T WIFHA FGTAT 04 36002
Right Answer : (C) Right Option Id :
Chall
35001 -
Select Objection v
Challenge
Select Objection v
Question 38 Juestion Id : Question 39 Question Id :
32 26
What is the shortcut ' ey to &) iy bold formatting Which of the following shortcut key is used to
in MS-Excel 20107 select all document content in MS-Word 2010?
MS-Excel 2010 # & Wi AT &3 & farg aiféae MS-Word 2010 # Zfagie & o+t @2 &t e &3
& @ g2 & forg frafafla & & e aiféee 1 @ guam fm
(A) Ctrl + P 320 AT 82
Ctrl +B 02 (A) Ctrl + X 260
(B) Ctrl + C 320 Ctrl + X 02
Ctrl+C 03 (B) Ctrl + A 260
(C)Ctrl +D 320 Ctrl+ A 01
Ctrl +D 04 (C)Ctrl +B 260
(D) Ctrl + A 320 Ctrl+B 04
Ctrl+ A 01 (D)Ctrl+S 260
Ctrl+S 03
Right Answer : (A) Right Option Id :
32002 Right Answer : (B) Right Option Id :
26001
Challenge
Select Objection v S

Select Objection v




Question 40 Question Id :
31

Identify the given icon of MS-Word 2010.

Ms-Word 2010 & BT 10 3saa 1 ugara &3

A

(A) Water mark i 310
e "I 03

(B) Page color 310
O FHeR 02
(C) Page border 310
REE N 04
(D) Equation 310
ECEhic] 01
Right Answer : (A) Right Option Id :
31003

Challenge

Select Objection




21 712 HIGIA &, Ida+ 31 87

(A)91 @ 510
91 03
(B) 88 510
88 01
(C) %4 510
94 02
(D) 76 510
76 04
Right Answer : (A) Right Option Id :
51003
Challenge
Select Objection v
Question 43 Question Id :
42

In the follow. 1 qucction four number pairs are
given [ cach pair the number on left side of (-) is
re! ed to the umber of the right side of (-) with
some ! ogic/R: e/Relation. Three pairs are similar
on basis of - ame Logic/Rule/Relation. Select the
odd one out from the given alternatives.

R Ry ey d ar e gE g g # vEs gwm A
(-) & ardi 3w & 7d T (-) F o iR & v T &
el /Py /dav & F4fam &) 9 g ot oo ady
Fom/gEy & suR W 397 31 2y Ty et 3 3 fAuw

EoR: (o]

(A) 400 - 20 420
400 - 20 04

(B) 169 - 13 420
169 -13 01

(C) 256 - 16 420
256 - 16 02

(D) 389 -17 0 420

389-17 03

statements followed by some conclusions based
on those statements. Taking the given statements
to be true even if they seem to be at variance from
commonly known facts. Read all the conclusions
and then decide which of the given conclusion
logically follows the given statements.
Statements:

ILAIlP are Q.

ILAILN are P.

. NoJis Q.

Conclusions:

I.NoNis J.

Il All N are Q.

42 g 7 we & 3 SR R 3 F aE W FwE W
smurla o P feg g #1 Ry g Feat 3 w@d am,
18 I8 I A1F T 2 e g ot B wg
3 fore Ruffia 2 & fog g &8 & Feand, R g

FUA! & YR R IfFETE 1

FYA:

LasftpQ#

RN PE

n.# Qg2

e

LFEN,JTE B

nLafiN Qe

(A) Neither conclusion tu 'ow= 500
Fi3 ft e erjaom @ o= 04
2

(B) Only concluion Il follows 500
Fae e || T L@ g 02

(C) Both conclus on [ and 11 N 500
foliows 03
A B L aw 1 SR FA
=

/D) Oniy ~onciusion | follows 500
Fae Y | SFEI AT & 01

Right Answer : (C) Right Option Id :

50003

Challenge
Select Objection v

Question 44 Question Id :

47

Which of the following groups of letters when
sequentially placed from left to right will complete
the given series?

jm_p_mnp__npj_np

e dd s ma o oEaudauss 3

@ W & T s F @ Fem?
jm_p_mnp__npj_np
(A)njmmm 470
njmmm 03
(B)nnjjj 470
nnjjj 04
©C)njjim 470
njjjm 02
(D)njjmm x 470
njjmm 01
Right Answer : (D) Right Option Id :
47001




Question 45 Question Id :

48
Saurav is facing towards South. He rotates by 348
degrees in clockwise direction. He again rotates by
672 degrees in anticlockwise direction. In which
direction he will be facing now?
e zfiyor fRam ) ok @ @ wan 81 ag fdonad
fam # 348 A gpran 31 @@ e @ amad R d 672
Rt gwan @1 ora ag fva R & o g @ @ar g

(A) South-east 480
afdvor-gd 02
(B) South-west D 480
afgyor-ufis 01
(C) North-east 480
T 04
(D) North-west 480
Far-ufgw 03
Right Answer : (B) Right Option Id :
48001
Challenge
Select Objection v
Question 47 Que tion fa:
5

If16PBR4=124and 14P 6 R 19 = b5, ther 22 P
4R23=7
UfE16PBR4=124 T 14P 6K 9= 5@, a1 22P
4R23=7

(A) 79 520
79 04
(B) 65 520
65 03
(O 520
73 01
(D) 67 520
67 02
Right Answer : (B) Right Option Id :
52003
Challenge
Select Objection v

Question 46 Question Id :

49
Jis the son of K. H and M are sistersof Jand B. T
is the father of B. How T is related to H?
J, K& QF 81 Haur M, J Jur B & ag4 &1 T, B &1 far
21T, H A e war waifa @2

(A) Son 490
i 04
(B) Father 490
foan 01
(C) Brother 490
ré 02
(D) Husband 490
ufd 03
Right Answer : (B) Right Option Id :
43001
Challenge
Select Objection v
Question 48 Question Id :
54

From the given option figures, select the one in
which the question figure is hidden/embedded
(Rotation is not allowed).

& né faemen sngpfaat # @ a9 angfa &t 9y e F ow

gl fafga & (g & sgafa =l 81

(A) 540
03

(B) 540
01

(C) 540
04

(D) 540
02

Right Answer : (C) Right Option Id :




Question 49 Question Id :

46
A series is given with one term missing. Select the
correct alternative from the given ones that will
complete the series.
AS, GW, MA, 2, YI
ua s o man 8, fovend @ g vz g 81 Ry g
fmmeut & & a8 9 ey Iy, ot orgEs & g 2
AS, GW, MA, 2, YI

(A) SE ) 460
SE 02
(B) SF 460
SF 01
(C) RF 460
RF 04
(D) TE 460
TE 03
Right Answer : (A) Right Option Id :
46002
Challenge
Select Objection v
Question 51 Quectionid :
53

Y 050850

If '+' means '~', 'x' means '+, '+' n.2ans ' and '~
means ‘+',then38 -42x 35+ 16+ =7

gy @ Hd -, K ErHY e am ol X Fyr - @
HFE+ @ A8 - 42«3 +1¢+2=7

(A) 22 530
22 04
(B) 16 530
16 03
(C) 20 ) 530
20 01
(D) 18 530
18 02
Right Answer : (C) Right Option Id :
53001
Challenge
Select Objection v

Question 50 Question Id :
43

Select the option that is related to the fifth number

cluster in the same way as the second number

cluster is related to the first number cluster and

fourth number cluster is related to third number

cluster.

82:97 24:73:311:2

39 faaen &1 997 a1 9 UrEd Ten 9y 8 39 uER

Fafaa ¢ e uaR g8 dE 9 v e 9gE &

HaTa ¢ T T T FHE A6 Gl 98 | qated

gl

32:97:24:73:31:7

(A) 93 430
93 01
(B) 96 430
96 03
(C)9%4 A30
94 02
(D) 97 430
97 04
Right Answer : (C) Right Option Id :
43002
Challenos
Se act Ob)ecm 1 v
Question 52 Question Id :
1

6 boys P, Q. R, S, T and U are sitting in a row facing
north (not necessarily in the same order). Only Q is
to the left of R. Only U is to the right of P. S is third
to the left of U. Who is at fourth position from the
left end?

6@3H P.Q,R, S, T R U Iu% N 3R 4g &% g ufth
FRE (Tt s ond g FaaQ RFard
g1 HIAU, P FH e AR 21 S, U F ard ok R ==
X &1 970 SR & e = 0 R 87

(AP 410
P 02
®T 410
T 01
(C)R 410
R 04
(D)Ss 410
S 03
Right Answer : (B) Right Option Id :
41001

Challenge

Select Objection v




Question 53 Question Id :

55
In the following question below are given some
statements followed by some conclusions based
on those statements. Taking the given statements
to be true even if they seem to be at variance from
commonly known facts. Read all the conclusions
and then decide which of the given conclusion
logically follows the given statements.
Statements:
I.No AisB.
I.NoBisC.
Conclusions:
|. Some B are not C.
Il. Some A are not B.
#rd fag 1y ww F o wue R T9E A 3T FuE ©
snuia e Fsend fg g @1 R g wHuEt @ a@d o,
18 I T T Jel F e g gt e o
3fie fos Ruffea T s Ry 1o e & Freand, fag g

FHYA! & IR R gfwand #1

FYF:

| g A BAE )

Il &Y B, C 7 &)

fAep:

1. $® B, C 7@ &)

II. % A, B7d &

(A) Only conclusion Il follows 550
e e || SgEeo Fer g 02

(B) Neither conclusion follows 550
a1g ot el srgeror d @ean 04
]

(C) Both conclusion | and Il B 550
follows 03
¥ e | @ || e FRa
g

(D) Only conclusion | follows 550
Faet Fem | SER0T & @ 01

Right Answer : (C) Righ' Outic: \d :

55003
Challenge
Select Objection v
Questioi. 55 Question Id :
45

In a certain code language, 'PRAYES' is coded as
‘TGBEWV', 'CDGHLP' is coded as ‘QNKKII'. How will
‘SVWLCH' be coded in that code language?

ua fafire #it3 s &, 'PRAYES' &t 'TGBEWV' farar
TET 8, 'COGHLP" &t 'QNKKII' fergT wman 81 36 i3
T # 'SVWLCH' &t fov wanme feraan g2

(A) IFOAAZ 450
IFOAAZ 02
(B) JEOAAY 450
JEOAAY 01
(C) IFOAAY 5 450
IFOAAY 03
(D) IEOAAY 450

IEOAAY 04

Question 54 Question Id :

44
In a certain code language, 'TRIM' is coded as
‘WULP’, ‘PRON' is coded as ‘SURQ’. How will
'HNCK' be coded in that code language?
ua fafire &g s &, TRIM' &t 'WULP' férn man 8,
‘PRON'’ &} 'SURQ’ forea &1ra &1 36 @18 ey # 'HNCK'
! frg wepT feran strgm?

(A) KRFN 440
KRFN 01
(B) KQFN 440
KQFN 03
(C) KQEN 440
KQEN 04
(D) KQEM 440
KQEM 02
Right Answer : (B) Righ: Mption ' :
+4003
Challenge
Select Objection v




WUSIUWIT IV WMEI UV T .

56
Mohit and Rohit undertook a work for Rs. 8800.
Mohit alone can do that work in 80 days and Rohit
alone can do the same work in 96 days. If they
work together, then what will be the difference in
the amount they receive?
Hifga Fur A3 4 g @d it 8800 Fud # form ) Hifga
SRt 39 w1 @1 80 AT § @ Hahe § AT AT SHawet
It & @t 96 faHT A & Tear 81 af2 & g Mee
o &%, At I e areht afdr § ofaw @ gm?

MuTIuwn v WMUTIUVI W .

59
The length of a train is 346 metres. If the speed of
the train is 24 m/s, then how much time will it take
to cross a bridge of length 518 metres?
Ua IS A g 346 Hiew g1 afz amE ) afy 24
#t./4. 8, 7 ga 518 Hiex 7 qe &l UR FA | 98
f&a=n ama aft?

(A) Rs. 850 560

850 sud 04

(B) Rs. 1200 560

1200 ¥ud 01

(C) Rs. 900 560

900 ¥ud 02

(D) Rs. 800 560

800 Fud 03

Right Answer : (D) Right Option Id :

56003

Challenge
Select Objection v

Question 58 Nuesiion Mi:

6°

What is the value of 415 -325+ 112+ 7714~ {75

+412-217+114 - 372?

415-325+112+714 -1/ + 412 - 217+ 14 -

372 FHA & E?
(A) 786 690
786 03
(B) 678 690
67¢ 01
(C) 867 690
867 04
(D) 415 690
415 02
Right Answer : (B) Right Option Id :
69001

Challenge

Select Objection

(A) 32 seconds 590
32 dFvz 03
(B) 48 seconds 590
48 9Fvg 04
(C) 42 seconds 590
42 qFv3 02
(D) 36 seconds 590
36 &3 01

Right Answer : (D)

Righ* updon Id :

5¢101
Challenge
Select Objection v
Question 59 Question Id :

61

The radius of a right circular cone is 17.5 cm. If the
height of the cone is six times of its radius, then

what is the volume of the cone?

Ue @ TR e i Broar 17.5 @ . 81 afe o &
Saré sud Brom & v 70 8, o F Srga @ g2

(A) 33687.5 cm’ 610
33687.5 4.4 02

(B) 34924.5cm’ 610
34924.5 .4 03

(C) 39764.5 cm’® 610
39764.5 8.4 04
(D) 29425.5cm’ 610
29425.5 4.4 01
Right Answer : (A) Right Option Id :
61002

Challenge

Select Objection




Question 60 Question Id :
67

A dealer sells a machine having marked price of

Rs. 19200 at a discount of 30 percent. What is the
selling price of the machine?

ua fadhar 19200 su sifda geg areht v gafi &t 30
wfaera § ge w duar 1wl @ Reva gew @ @2

(A) Rs. 13440 : 670

13440 3 01

(B) Rs. 16720 670

16720 3ud 03

(C) Rs. 15650 670

15650 FUd 02

(D) Rs. 16500 670

16500 ¥ud 04

Right Answer : (A) Right Option Id :

67001

Challenge
Select Objection v
Question 62 Ouectlonid :
€5

U sells a chair to V at the profit of 0 per ent and V
sells it to W at a loss of 2U peicont. Ii W pays Rs.
9984 for the chair, th2n wha! ', the cost price of
chair for U?

U, V @&t g& gdlf 30 ke o e mAma g aur v 3@
W @t 20 p¥iaid < g1 TR dwar ¢ afe W & fag
9984 3t Jabrar 8, U & g gl a1 v e @2

(A) Rs. 9500 660
9500 sud 02

(B) Rs. 9000 660
9000 Fud 01
(C) Rs. 9600 660
9600 ¥d 04

(D) Rs. 9200 660
9200 Fud 03
Right Answer : (C) Right Option Id :
66004

Challenge

Select Objection v

Question 61 Question Id :
60
Rohit walks at the speed of 4 km/hr and reaches
his school 24 minutes late. If he walks at 6 km/hr,
then he reaches 16 minutes before the scheduled
time. What is the distance of his school from his
house?
A 4 for =t /eer it nfy & weran @ qur 0= R
24 frre 1 28 @ udaar #1 aft 7 6 B sft /e ) f
2 et 8, 3t g PrufRa w7 @ 16 free ugd uge smar
81 3ud o & 3ua Raen § of @ g

(A) 8 km y 600
8 fos ot 03
(B) 10 km 600
10 f& . 04
(C) 6 km 600
6 for ot 02
(D) 5km 600
5 fos ot 01

Right Answer : (A) «igh' Option Id :

60003
Challenge
Select Objec' on v
Question 63 Question Id :
64

Ifg:h=2:3andh:j=2:5,then what is the value
of 29:2h:j?

g g:h=2:33uh:j=2:58 @ 2g:2h: AT
F

(A)7:6:9 640
7:6:9 02
(B)5:4:10 640
5:4:10 03
(C)8:12:15 640
8:12:15 04
(D)8:12:13 640
8:12:13 01
Right Answer : (C) Right Option Id :
64004
Challenge
Select Objection v




Question 64

What is the value of

256 0.16

016 256
() 285/16
285/16

(B) 257/16
257/16
(C) 255/16
255/16

(D) 279/16
279/16

Right Answer : (C)

Challenge

Select Objection

Question 66

& A @ R?

Question Id :

68

680
03
680
01
680
02
680
04

Right Option Id :
68002

Cuctionld:

5

Due to an increase of 80 percent in the yrice of
carrot, the consumer de teo o8 his - Cisumption
by 40 percent. Wh#t is the peiceniuge change in

total expenditure?

e & w7 o0 ui o A aty & wwor ot s
U # 40 TG < | FH FR 241 81 Fed @ A A

wfaere qrEds got g2
(A) 10 joreent
10 mfqa=

(B) 16 percent
16 wfawa

(C) 8 percent
8 ufaera

(D) 12 percent
12 ufaea

Right Answer : (C)

Challenge

Select Objection

650
02
650
04
650
01
650
03

Right Option Id :
65001

Question 65 Question Id :

58

The bar graph given below shows the production of five companies
intwo years A and B,
A R v s anvw A ad A awr B A dfe dufaa &

Feurea Y gaftar B

170

140

1 K L M N
|BA =]}

ﬁoprodudmd:omml.lmdtmh«mwn » how
much more than that of company L and N together in . zar B?
at B A & o, K R L & Fa sewe ad A A dueh

M N & & Iewea & fkaan sfow *

(A) 212 580
212 04
(B) 211 580
21 03
(C) 230 ‘ 580
230 02
(D) 211 580
20 01
Rigi t Aiicwer : (C) Right Option Id :
58002
Challenge
Select Objection v
Question 67 Question Id :
62

Two vessels of equal capacity contains juice and
water in the ratio of 5: 8 and 3 : 2 respectively. The
mixture of both the vessels are mixed and
transferred into a bigger vessel, What is the ratio
of juice and water in the new mixture?

S TR &A1 AT A1 H T AT A HHA: 50 8 Y13
22 & wyqura # &1 Y A & s ) e sa @
YT UF 73 qd J weTaia e faa A &) 79 e i

TH U1 T HI IFUE T 82
(A)21:22 620
21:22 01
(B) 41:42 620
41:42 03
(C)32:33 $ 620
32:33 04
(D)33:34 620
33:34 02
Right Answer : (C) Right Option Id :
62004

Challenge

Select Objection v




Question 68 Question Id : Question 69 Question Id :

70 63
Which of the given option is correct regarding What should be subtracted from 380 so that the
fractions (2/7), (5/13) and (6/19)? number obtained will become equal to 150 percent
W4 (2/7), (5/13) @u1 (6/19) & " # fag ny faseqt of 170?
H 3 FF wrad @2 380 # & a1 weTan S ARy anfen e w170 &
(A) s .. @ 700 150 wfaerd & awrEr g |g?
1371977 03 (A)125 > 630
B 2 6 5 700 125 01
[ATIET] 01 (B) 135 630
© s 2 6 700 e 02
53719 04 (C)175 630
® 6 25 700 78 03
5715 02 (D) 160 630
160 04
Right Answer : (A) Right Option Id :
£5001
Challenge
Challenge
Select Objection v
Select Objection v
Question 70 Guustion Id :
a7

The average of 19 number: is 4. |7 we subtract a
number Y’ from eac! numbe . then the average
becomes 15. Wi at ic the valu: of Y?

19 Tt & fa 10 @) afe g8 Ul s J A UE
@y 7 g s LA a5 @ S\ gy a1 EE

a2
(A) 33 570
33 04
(8)23 570
23 03
(C) 29 570
29 02
(D) 27 & 570
27 01
Right Answer : (D) Right Option Id :
57001

Challenge

Select Objection v




General Hindl Grammar

Question 71 Question Id :
74

frafaf@a e &1 aga e 71d H

aifiy

(A) 3 740
01

(B) 3T 740
03

(C) F=Htet 740
04

(D) o7& 740
02

Right Answer : (B) Right Option Id :

74003
Challenge
Select Objection v
Question 73 Question Id :
85

frafafeEa e = fawl s e | &)

T

(A) ar=Td 850
01

(B) w1 850
02

(C) &g 850
03

(D) sk 850
04

Right Answer : (A) Right Option Id :

85001

Challenge

Select Objection

Question 72

Question Id :
79

TR F TR W IY fFehew &1 909 &1 o fear mar

aw TEd g1
(A) Fga & qo0 TREvErd! 4 off 37 790
AT e g Gadt awg 02
| I¢ HUAT ATy SIS ST
(B) wfgent =t gz foneft & 31ua amrd 790
# gad= faen 3Hifeg 396 a8 04
Tl & A ot
(C) TfarehT ek Wi § 790
01
(D) a1 Fa (ar3esaEw) T 790
FAET F GEW 0UT &5 THI 03
AT 41
Right Answer : (B) micht Option Id :
79004
Challenge
Select Obje: tion v
Question 74 Question Id :
77
TEi & AR W, FEfatEa aen & v, fEifed g
&1 3 et = 71 F H2
FIE HISATE ST AT A AT Geha|
(A) &Har 770
03
(B) erar 770
02
(C) g 770
01
(D) & 770
04

Right Answer : (B)

Challenge

Select Objection

Right Option Id :
77002




Question 75 Question Id :
80
H1 fog g erez; @t uafaarsh e 719 &7
Y
(A) sfzdm 800
01
(B) @t 800
04
(©) g 800
02
(D) HIE=R 800
03
Right Answer : (C) Right Option Id :
80002
Challenge
Select Objection v
Question 77 Question Id :
75

f&u 1y areia & fog @ i g <\ A

SO & arell &)

(A) JmareE
(B) redrar
(C) weust

(D) Iuh

Right Answer : (A)

Challenge

Select Objection

750
01
750
03
750
02
750
04

Right Option Id :
75001

Question 76

Question Id :
86

frafafaa aea & ifeha s & g g ands aeg

a HfAg)

TH g R & 1Y M Rl )

(A) TR
(B) gHfiera
(C) g

(D) ufest

Right Answer : (A)

Challenge

Select Objection

Question 78

860
02
860
04
860
03
860
01

Riz i uption Id :
16002

Question Id :
72

feg g w2l A @ g A aret ez & 9ga A

(A) amenfRes
(B) sremradies
(C) smenmdfaa

(D) amemf&s

Right Answer : (D)

Challenge

Select Objection

720
01
720
02
720
04
720
03

Right Option Id :
72003




Question 79

Question Id :

81

Fafaf@a vy 8, By 7y ar fFweut 4 9, 39 [aeu &

Question 80

Question Id :

71

feg g 21l A § g I AT we @ g Ao

T & it g g TR & ord @t wdee wu d arh (SEicii=ad 710
FAT B 04
IS G g g (B) SR 710
(A) ot & El‘ﬁ g 810 02
04 (C) snfasER 710
(B) sraufes forg g 810 03
02 (D) snfawaR 710
(C) 71 & afia gr 810 01
01
(D) w3 HAgTa FA 810 Right Answer : (B) Right Option Id :
03 71002
Right Answer : (A) Right Option Id : Chall
81004 .
Select Objection v
Challenge
Select Objection v
Question 81 Guestion Id : Question 82 Question Id :
76 89
feg g are # F@ifed we @t e @3 | aed |
T g farTeft & R o1 Sitam & aveuar off 76 @R
egd iy & o7 3R 7 ok & A AR gHd 81
(A) @faasT 377 &t 5o TS | 760 (A) uftads &1 smasaear 7gi g1 ) 890
03 04
(B) @ifaen SIU &1 v @ 760 (B) Sftem &t aveumr ot At o 890
01 TEHd 03
(C) wfar 1y i mdt 760 (C) Sfte &1 weur ot 781 & Teha 890
04 01
(D) wifaat =g 1 e 760 (D) Sfta= & eg=m oft 78 & 890
02 Havdl 02
Right Answer : (B) Right Option Id : Right Answer : (A) Right Option Id :
76001 89004
Challenge Challenge
Select Objection v Select Objection v




Question 83

Question Id :

84

fFrafaf@a vy d, By 1y ar et 4 4, 39 fsa @
U @2 5t g T qerad & o @ gdas wu @ e

Excifd]

S 47 R @ g
(A) Fga SFfE g
(B) wraerwdt gi=n

(C) P g

(D) T Fw A I

Right Answer : (B)

Challenge

Select Objection

Question 85

840
02
840
01
840
03
840
04

Right Option Id :
84001

Juestion Id :

20

frafaf@s are & ag wm Na 7 ST s AR #
af? @é qfe A 8, @ B A T @ g
fan o e ft g & 29 @, o daew A e

(A) Y 3 7 ¢

(B)gF A amge

(C) @YE Q& & g, gt

(D) &aey 7 fAwa @

Right Answer : (C)

Challenge

Select Objection

900
04
900
01
900
02
900
03

Right Option Id :
90002

Question 84 Question Id :
83
#r2 Ry g oz @ wafaardt gez w1 w2
w3
(A) T 830
04
(B) ufurs 830
03
(C) &= 830
02
(D) Tz 830
01
Right Answer : (A) Right Option Id :
83004
Challenge
Select Objection v
Question 86 Question Id :
82

fmfaf@ area & ag o e &, e & 3fe 81
uft g gfe 7 8, @t ‘w3 7 & g

& AR A g2 fay &) wwra faam
(A) gaTar offz srdar & R 3

(B) FE A 7 @
(C) R fasy &t wema o

(D) shretet ehifey Fur 36 513
A,

Right Answer : (C)

Challenge

Select Objection

820
02
820
04
820
03
820
01

Right Option Id :
82003




Question 87 Question Id : Question 88 Question Id :

88 g7
foy 1y arew # Faifa vez @t aran @3 F Gz fay 1y areiy & g arde o ard W S
¥4 1838 1R 9 Bl Hiw 1 s gy far mn &H @Y & T
(A) &t Zrret a1 e aifta 7 880 (A) st 870
03 02
(B) ® it a1 Tram giwon 880 (B) fyqardt ) 870
02 04
(C) & forg Feh & e digon 880 (C) frmft 870
01 01
(D) uRada i srasaarar 7¢ 81 880 (D) v Hardht 870
04 03
Right Answer : (A) Right Option Id : iight Answer : (B) Right Option Id :
88003 87004
Challenge Challenge

Select Objection Select Objection v




Question 89 Question Id :

73
frafaf@a maia & snur oz ufe uy By g &) meriy &
YT UE a9 WS U & IR fRAseul d @ adt
faweu g4
e W & wu §, @fder ary 3 sier & dal-dta
W, JEH e iR g @ g &
wigal wt a3 o & & mram @, 39 A Fae
a=gsftal 6 e & afees wfgen wra=n ) awd o
adtera &t +ff wefafa feman
wfae A € s ora oft oo foneft Qeft oo ond € et
W wfd oo oy & wyof gt @ @ g s @ fas oo
ITare & A gas wfew J g afaenr & arn F ga g
HI3 37| {0 A g & Feot aret & H, 39 A
Fepe A & rawrg wonfaal 6 e & g oo warat
&! gRfia e gy, 39 q2, & awd= ) ag asfia
TRev1 & frg uek were afes & w0 A RaEfda gd) afawm
3 @rgn o & aga & qow dveorard) A oft 3 sroe
P aran e awg @ afaw @t ity a@ sg
udt aRar o <t @ waraar e & arase a8 ar
el & Wl A faerge ot 7@ o
TS @ AT 30 TUF UFS wE qE W A e F4
faw & syuen wifdes a9 & ar F g ot o ged oft
IR FiE wfgen @ ofte (argeseas) S Frdes A
T aget @ ot A 35 ifRm T ER & an-ay gew
weg oft un) @ Rafaen afda & fag fad geoma & o
Tl @ ft 7l afes aga o wwy as e @) A
ag wrd § & ST oy @ ur i e & & oo
it g # o @gen @ At fne i wfEard oo o
@ e ahan Afaew B w7 Faa gF @ am Ha
wu A, afew ga #fgen & & & wramss 7 o i g
S qE-naT & o 7% W ) (WU T A BCHI0F
ferg)

iy & R W, F=fafoa are Y g, WifEa e

&1 3T yataardt ez (3 @

wigern s & yag R o e &) oft vafifa

(A) ufeh - 730
04

(B) smmaT= 730
01

(C) FHAY 730
03

(D) deFeiis 730

02

Right Answer : (A) Right Option Id :

73004

Challenge

Select Objection v

Question 90

Question |d :

78

TEieT & YR WR e 6 IFRF TTEAT H 99 S

(A) &
(B) BreTeReh
(C) amaraE

(OEIGIECIG ]

Right Answer : (A)

Challenge

Select Obj ctlon

780
01
780
02
780
03
780
04

Right Option Id :
78001




General English Grammar

Question 91 Question Id : Question 92 Question Id :
92 97
Read the following passage and answer the Improve the underlined part of the sentence.
questions given below. Choose ‘No improvement’ as an answer if the
Political activism involves efforts to promote, sentence is grammatically correct,
impede, direct, or intervene in social, political, That pear isn't ripe much to eat yet.
economic, or environmental reform with the desire (A) enough to ate 970
to make changes in society, Activists may work 01
through various means, including protests, (B) enough to eat 970
lobbying, campaigning, and community organizing. 03
Political activism can take many forms, from (C) No improvement 970
grassroots movements to large-scale 04
demgnstr.ations. The aim is often to influence (D) enough to esten 970
public policy or government actions. In recent
years, social media has become a powerful tool for oz
activists to reach a wider audience, mobilize
support, and coordinate actions quickly and Right Answer : (B) Right Option id :
efficiently. (For Ques. no 98 to 100) 97003
Challenge
What is the main goal of political activism? aectObmdion ;
(A) To avoid public engagement 920
03
(B) To entertain the public 920
01
(C) To make changes in society > 920
02
(D) To promote personal gain 920
04
Right Answer : (C) Right Option 'd :
97uue
Challenge
Select Objection v
Question 93 Question Id : Question 94 Question Id :
94 91
In the folic wing que :tion, out of the given four Select the option which best expresses the given
alternatives, < ~lec’ the alternative which best sentence in Passive voice.
expresses the meaning of the Idiom/Phrase. Sita has sent the parcel.
To throw in the towel (A) The parcel has being sent by 910
(A) To admit that one is 940 Sita. o1
defeated 04 (B) The parcel has been send by 910
(B) To lose a loved one 940 Sita. 03
02 (C) The parcel had been sent by 910
(C) To begin a war 940 Sita. 04
03 (D) The parcel has been sent by } 910
(D) To give a challenge 940 Sita. 02
01
Right Answer : (D) Right Option Id :
Right Answer : (A) Right Option Id : 91002
94004
Challenge
Challenge

Select Objection v




Question 95

Question Id :
100

What is the most suitable title for the passage?

(A) The Importance of
Government Policies

(B) The Power of Social Media

(C) Methods of Political

Campaigning

(D) An Overview of Political

Activism

Rinht Answer : (D)

Challenge

Select Objection

Question 97

100
004
100
001
100
002
100
003

DRinht Ontion Id :

QuestionId :
93

In the given questioi. four waids are given out of
which one woid is correctly spelt. Choose the

correctly spe't word.
(A) aggresor

(B) agressor
(C) aggressor

(D) agresor

Right Answer : (C)

Challenge

Select Objection

930
03
930
02
930
01
930
04

Right Option Id :
93001

Question 96

Question|id :
98

Choose the word that can substitute the given

group of words.

The science that deals with origin, physical and

cultural development of mankind

(A) Mycology
(B) Anthropology
(C) Entomology

(D) Topology

Right Answer : (B)

Challenge

Select Objection

Question 98

980
02
980
01
980
03
980
04

‘ight Option Id :
98001

Questionld :
96

Choose the most appropriate antonym of the given

word.
Gallant
(A) Bold

(B) Craven
(C) Stout

(D) Foolish

Right Answer : (B)

Challenge

Select Objection

960
04
960
01
960
02
960
03

Right Option Id :
96001




Question 99 Question Id : Question 100 ‘Juestion Id :

99 95

Find the part of the given sentence that has an Which of the followiry ;- NOT mer iioned as a
error in it. If there is no error, choose ‘No error’, method used by politica' activists?
The idea of an four-day working week is gaining (A) Lobbying 950
traction. 02
(A) No error 990 (B) Protests 950

04 01
(B) week is gaining traction. 990 (C) Campaig iing 950

03 03
(C) The idea of 990 (U) undraising 950

01 04
(D) an four-day working , 990

02 Right Answer : (D) Right Option Id :

95004
Right Answer : (D) Right Optior id :
99002 Challenge
Select Objection v

Challenge

Select Objection v



